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1. Evaluate:
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9. Find the sum of the series 38+ 34+30+...+2 00
3. Find the sum of the first 60 terms of the series 2+5+8+1 14... ) L‘} g C)

4. Alarge amphitheater has 85 rows of seats with 20 seats in the first row, 24 seats in the second TOW, 78 in the 3% row,
and so on. ,

a. How many seats are in row #727 %CH‘ S&;ﬂ‘fﬁ .
b. How many seats are in the theater? l%“,fi 50 s® u’f> ,
c. How many seats are there in rows 32 through 647 @8(54 < ;{,;d’”g

5. A grocery clerk setsup @ display of 12-pack cartons of cola. There are 15 cartons at the base of the triangle and one at
the top. How many cartons of cola are needed for the complete display? - i
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6. Evaluate each geometric series described:

a. ~2+4a8+16—... for n=28 b. ~1—2—4—8~... for n=06

7. Evaluate: 256~64+16—4+... - b%

8. Evaluate: i(—@f_\ S Z%qqqg

9. Determine if each geometric series converges. If the series cOnverges, find its sum.
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10. Inanold fable, a commoner who had just saved the king’s {ife was told he could ask t?we king for any just rewarc
Being 2 shrewd man, the commoner said, “A simple wish, sire. Place one grain of wheat on the first square.
chessboard, two grains on the second square, four grains on the third square continuing until you have fillec
board. Thatis all 1 seek.” Compute the total number of grains needed to do this 10 5¢€ why the request,
seemingly simple, could not be granted. Hint: A chessboard consists of 64 squares. \JSL‘B X \@‘ 19&&’3

11. You are ‘nterviewing for a job and receive two offers:
Offer #1: $20,000 to start with guaranteed annual increases of 6% for the first 5 years
Offer #2: $22,000 to start with guaranteed annual increases of 3% for the first 5 years

A. Which offer is best if your goal is to be making as much as possible after 5 years? A
B. Which offer is best is your goal is to make as much money as possible OVer the contract length of 5 ye
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